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<RVVL� $SULOOLD�� ������������� 3HPEDXUDQ� %XGD\D 0LQDQJ� 'DODP
3HUNDZLQDQ� %XGD\D� 3HVLVLU� .RWD� 6LEROJD�� 6NULSVL�� 3URJUDP� 6WXGL
3HQGLGLNDQ� 3DQFDVLOD� GDQ� .HZDUJDQHJDUDDQ�� 8QLYHUVLWDV� 1HJHUL� 3DGDQJ�
3DGDQJ������

3HQHOLWLDQ� LQL� GLODWDUEHODNDQJL� ROHK� DGDQ\D� SHPEDXUDQ� EXGD\D GDODP
SHODNVDQDDQ SHUNDZLQDQ� DQWDUD EXGD\D� 0LQDQJ� GDQ� EXGD\D� 3HVLVLU� .RWD
6LEROJD�7XMXDQ� SHQHOLWLDQ� LQL� DGDODK�� ��0HQJDQDOLVLV� SHODNVDQDDQ�SURVHVL
SHUNDZLQDQ� DQWDU� EXGD\D� 0LQDQJ� GDQ� EXGD\D� 3HVLVLU� GL� .RWD
6LEROJD���0HQMHODVNDQ� NHQGDOD� GDODP� SHODNVDQDDQ�SURVHVL� SHUNDZLQDQ� DQWDU
EXGD\D�0LQDQJ GDQ�EXGD\D�3HVLVLU�GL�.RWD�6LEROJD�3HQHOLWLDQ�LQL PHQJJXQDNDQ
PHWRGH NXDOLWDWLI� GHVNULSWLI�� 7HNQLN� PHQJDPELO� LQIRUPDQ� DGDODK� GHQJDQ
PHQJJXQDNDQ� PHWRGH� SXUSRVLYH� VDPSOLQJ�� DGDSXQ� \DQJ� PHQMDGL� LQIRUPDQ
GDODP� SHQHOLWLDQ� LQL� DGDODK� VHEDQ\DN� ��� RUDQJ��� -HQLV� VXPEHU� SHQHOLWLDQ� LQL
DGDODK�GDWD�SULPHU�GDQ�GDWD�VHNXQGHU��'DWD�WHUNXPSXO�PHQJJXQDNDQ�REVHUYDVL�
ZDZDQFDUD�GDQ�GRNXPHQWDVL��$QDOLVLV�GDWD�GDODP�SHQHOLWLDQ� LQL�DGDODK� UHGXNVL
GDWD��SHQ\DMLDQ�GDWD�GDQ�SHQDULNDQ�NHVLPSXODQ�

+DVLO� SHQHOLWLDQ� GDODP� SHODNVDQDDQ� SHUNDZLQDQ� EXGD\D� 0LQDQJ� GDQ
EXGD\D�3HVLVLU�PHQJDUDK�SDGD�SURVHVL�SHODNVDQDDQQ\D�\DQJ�GLPXODL�GDUL�SURVHVL
PDUHVHN�� PDPLQDQJ�� PDODP� EDLQDL�� PDQMDSXLN� PDUDSXODL�� PDDQWD� PDUDSXODL�
PDQMDODQJ� PLQWXR�� KLQJJD� VLODKWXUDKPL� � VDQDN� NHOXDUJD� NHGXD� PHPSHODL
.HQGDOD�GDODP�SHODNVDQDDQ�SHUNDZLQDQ�DQWDU�EXGD\D�0LQDQJ�GDQ�3HVLVLU�.RWD
6LEROJD�LQL�DGDODK�DJDPD�GDQ�XQVXU�EXGD\D� $GDSXQ�VDUDQ�\DQJ�GLEHULNDQ�XQWXN
PDV\DUDNDW� GDODP� SHODNVDQDDQ� SHUNDZLQDQ\D� KHQGDNQ\D� WHODK� PHQJHWDKXL
SURVHV�DSD�VDMD�\DQJ�DNDQ�GLODNVDQDNDQ��GDQ�WLGDN�DNDQ�PHPEDQGLQJNDQ�DQWDUD
PDVLQJ�PDVLQJ�EXGD\D�

.XQFL���SHPEDXUDQ��EXGD\D��SHUNDZLQDQ


